


o

Parts List

©)®)

&
\. p
¢




HardwarelList

/ @3’ QY
S
M6 x 110 M6 x 90 M6 x 70 M6 x 60
Ax14pcs | B x4pcs Cx33pcs | Dx13pcs
@ % Q‘mm
®8 x 30 M5 x 50 M6 x 30
Ex63pcs | Fx64pcs | Gx24pcs | Hx 10pcs
% cﬁ
JXx10pcs | Kx30pcs | Lx80pcs | Mx2pcs
ﬁ
M6 x 15 M3
N X 4pcs R x 1pc




Ax2 Ex2 Fx1 Mx1 Nx2

Step 1




Ax2 Ex2 Fx1 Mx1 Nx2

Step 2




Dx8 Ex8

Step 3

Cx22 Ex22 Fx24

Step 4




Lx40 Px20

Step 5

Fx8 Lx32

Step 6




/




Cx10 Ex10 Fx12

Step 8

Bx2 Dx1 Ex3 Fx1

Step 9




Step 10

Cx1 Ex1 Fx1

.

Step 11

Dx3 Ex3

1)

P
_ ’f




Ax6 Dx1 Ex7 Fx4

\\\\2/\/\//,

Step 12




Ax2 Bx2 Ex3 Fx4

Step 13

f\\
,r», &S
\" ! L/

———

/AN

0

5

)
-




Vi

NAAN
WPE

: A0




Fx2 Lx8

Step 15




W /&
o w233 . .AW///%/«/%
o|° . & R




Kx 30

Step 17

raaad

NN
: o

- O 0
Ak v 7

.____-.

¢ )

)
/
/f /
.‘.
A /




	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型


